N = 0l & AF & F Al A

A AR =X B

M £QX ZAlO =X I8 RE(AIESX/AE =X YL
ool M =X EH T4 (=L -ED
_ _ _ Muo
SA - HH . CA(BH) - HREAY - BY2 Off At il i~ o Hm=2
AbEl = X1 Bt 605,372,948 595, 147,754 10,225,194
= 480,720,981
p 2,962,000
= 22,325,000
= 99,364,967
2QX ZaO =X RE(ASISX/AE =X YL 9,710,433 7,374,554 2,335,879
= 5,487,000
= 33,600
= 4,189,833
HT =2X8H T4 6,547,685 4,521,722 2,025,963
= 5,437,000
= 1,110,685
MEI=X BRI =X 116,765 123,545 A8,780
201 Lsr2y| 45,200 49,920 A4,720
01 At el 45,200 49,920 A4,720
OAFBI= X AlZ e 15,000
OArEI=X A& ED} 26,200
OAMNBI=XISRE 2 4,000
202 OFH| 25,000 27,050 A2,050
01 201 5,400 5,000 400
OMT =XBY T4 =X 5,400
04 =RIsk01| 19,600 22,050 A2,450
OMALTX MDY L HEoI4 19,600
203 2= Y| 45,000 45,000 0
03 AlZ{ZZIQ D= 45,000 45,000 0
OMBIZXIZEAH S 45,000
301 LHrEAD 1,565 1,575 A10
09 Zo2eeATAS 1,565 1,575 A10
OANEIZX YREX 1,565
OZAlH| 1,265
SHET 300
o2 0% 912 =X 100,000 120,000 A20,000
301 Yy A 100,000 120,000 A20,000
01 ALBIE R 253 100,000 120,000 A20,000
0928 7 100,000
NS AIY JIBES XA 461,000 578,800 A117,800
202 OFH| 5,000 5,000 0
01 2o 5,000 5,000 0
OXH=ZX A FA 5,000
307 QI2+0|H 200,000 245,000 A45,000




A AR =X

M QX B 2XIIY PE(ASI=X/AE =AY
oYl ME ENEA XA (B9l & 2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 2ItBAE X 200,000 245,000 245,000
OZET AS=EXNES=233 29 60,000
OZ2E A2SXgels 23 70,000
OZE=XNUERT 2 40,000
oz9ECY] 29 30,000
308 XNXISHHSOIE 256,000 328,800 AT72,800
01 XM EXS 256,000 328,800 AT2,800
OAZ Atsl=XIg2zs 23 144,000
OAM3IZ2XN2 = 48,000
olls==xg 24 64,000
MBI BESIIAIY =& 26,000 36,000 A 10,000
201 et 6,000 16,000 A 10,000
01 AtS 22l 6,000 6,000 0
OXz®ds 23 6,000
307 QI2t0IA 20,000 20,000 0
02 BlItAAEX 20,000 20,000 0
OAM3SEHEEHNH 2 20,000
KSALS MBI AEXAIZ (2 1) 5,843,920 3,663,377 2,180,543
= 5,437,000
& 406,920
308 XX HHSOIA 5,843,920 3,663,377 2,180,543
=2 5,437,000
= 406,920
01 XS MBLNEEXS 5,843,920 3,663,377 2,180,543
OXN S A MEIA EXALS 5,843,920
=2 5,437,000
= 406,920
SEXAE &z 22X 1,644,200 1,837,980 A 193,780
= 33,600
= 1,610,600
M BXNEEMH 28 F48 48,000 47,960 40
= 33,600
& 14,400
307 QI2t0IA 48,000 47,960 40
= 33,600
= 14,400
02 BItAAEX 48,000 47,960 40
OMIIEXNZEHLNYH 2 48,000
=2 33,600
= 14,400
AMIIEXAE 2 F& 1,596,200 1,790,020 A 193,820
202 O4Hl 5,000 5,000 0




A AR =X

HE: 22X S40 2N PE (A=K /AE =R L)
Sl =SXASE HED 2N (el & 2
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O] Ak 4 il b o B2
01 2UhoiH| 5,000 5,000 0
ONBISIAL 2YNY =7 5,000
307 Q1201 230,400 230,400 0
RN EES 230,400 230,400 0
OTHD ABSTAIL BAX =X+ 230,400
308 XHXICHHI SO & 1,360,800 1,549,620 188,820
01 RXCSHZLRES 1,360,800 1,549,620 188,820
OAZ MNESTAE BAX SN+ 1,327,680
OMASYMUDAIL 2 X2 33,120
HEMDZSUS 1,518,548 1,014,852 503,696
= 50,000
= 1,468,548
HEMDEE B 29 =7 10,440 14,852 A4,412
201 Lty 3,840 8,000 A4,160
01 Attt 3,840 8,000 A4, 160
OMB& DS ABFHINY 3,840
202 OiH| 6,600 6,852 A252
01 2UhoiH| 6,600 6,852 A252
OMZL - DBAME (S JIBEY F7 6,600
GRS SR 1,408,108 1,000,000 408, 108
308 XHXICHHI SO & 1,408,108 1,000,000 408,108
01 RACSHZLRES 1,408,108 1,000,000 408,108
OESAIA D018 OIS ¥F4L 1,063,698
ONSsD Ystz U ~¥B 344,410
OOl E2H4 YRRERY 2Y(21) 100,000 0 100,000
= 50,000
= 50,000
307 QI2H0IH 100,000 0 100,000
= 50,000
= 50,000
IETEPNEES 100,000 0 100,000
O0t0ILT| ZSHA LRSS 29 100,000
= 50,000
= 50,000
SEAYIY BB (AEST/2E) 117,100 259,550 A 142,450
SEUH SLX 117,100 259,550 A142,450
Seoy A 105,000 83,400 16,600
201 L2y 5,000 5,000 0
01 Attt 5,000 5,000 0
OLABEY 24T 2 5,000




A AR S X1
B HEAUEM BIH(NESN/2E)
&t EECHH S4X# (ctel: &
_ _ _ Muo
SN CR(EH) - NRAY - BES 0l & 24 e HRE2
307 QI2t0IA 100,000 82,400 17,600
02 BI2tAAEX 84,000 62,400 21,600
ok E=3& 29 30,000
od0I=Zd A=ZMHEXHA 54,000
04 QIHHAIE X 16,000 20,000 24,000
OHMB0=E 6.250| & & At 16,000
SERZEAM 55 2=H KAE =4 12,100 18,150 A6,050
308 XX HHSOIA 12,100 18,150 26,050
01 AXNHMBLAEXS 12,100 18,150 26,050
O=8R3k & &5 2A=H| 12,100
OIS AEE SH(MIZEX/FHAHNSXA) 44,314,609 47,513,854 A 3,199,245
= 24,842,363
J| 2,962,000
= 8,599,828
& 7,910,418
ZUH=ERAE &5 & 29 17,998,674 21,968,750 A3,970,076
= 1,085,889
| 2,962,000
= 8,599,828
= 5,350,957
HoAlE &5 =& 503,900 550,068 N46,168
&2 56,500
= 447,400
201 et 10,500 13,500 23,000
01 AtS 22/t 10,500 13,500 23,000
OFOAHEHOAILE 2HEHA XE 29 6,000
Ol =X2& 2 4,500
202 O4Hl 13,200 13,708 A508
01 =Wl 13,200 13,708 A508
OFMA=EXNSE = 13,200
307 212t01& 263,400 236,660 26,740
=2 56,500
L= 206,900
02 BItANE X 263,400 236,660 26,740
OZOUASAIY 2L 33,400
Q&M & 29 60,000
OQEHAMELEX AEIH 2 55,000
=2 22,000
L= 33,000
OFOQ BHOAANLXNZMYH 2 115,000
2 34,500
L= 80,500
308 XHXIHHSOIA 200,800 286,200 285,400




SN
X XH .
S Tt

oLk

At = X ot

ZOHRI=X AHE SH(MIISX/FHAAHNSKH)
3 Q

=
FHA=ENAIE &#FE & =29

SA - HB B9 (E) - NRAY - Ba S 0f et o e DS

01 MXEHHMBdELS 200,800 286,200 85,400
OAlZ HOHeIASAMAE 2Y 104,400
OZHMHZEXNY 29 86,400
OZOMHAEAANLXALMEH =IILX 10,000

402 2IZ2tt=0lA 16,000 0 16,000

01 2ItXEEx 16,000 0 16,000
ORIASAY ZHIEZ (AL XHE) 16,000

23T HEYHA 0l8AE(=2D) 2,962,000 5,500,000 /2,538,000
p) 2,962,000

401 Al HI YL S 2,962,000 5,500,000 2,538,000
P 2,962,000

01 Al&HI 1,493,000 5,475,000 23,982,000
oMgdga oldd= 1,493,000
Il 1,493,000

02 Zeldl 1,425,000 0 1,425,000
oMEdgd olde= 1,425,000
Il 1,425,000

03 A& =0yl 44,000 25,000 19,000
oMdgd olde= 44,000
Il 44,000

e g 2= 804,400 618,252 186, 148
= 200,000
s 604,400

202 O 4,400 0 4,400

01 =LHOYI 4,400 0 4,400
oMgdd L MH M NEA= 4,400

307 elztold 800,000 618,252 181,748
= 200,000
= 600,000

05 BI2tAE S 800,000 618,252 181,748
020008 = 2 HAEA 500,000
= 100,000
< 400,000
020108 29 2x 300,000
= 100,000
= 200,000

ZOHQ THEFXRME 2F 326,600 282,300 44,300
= 37,500
= 289, 100

307 212H0| & 231,000 168,900 62,100
& 37,500
= 193,500

02 YIS EX 231,000 168,900 62,100




AT MEISX
A ZA=EX AEE SHMISX/FHAAHNEXH)

S HOeISsAAILE &5 L 29 (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
OAIZEOMC XEXNIHEH 29 21,000
OBXNENE 29 55,000
O £=Z0HC! THE XA 30,000
OX 125,000
= 37,500
& 87,500
308 XX 95,600 113,400 A 17,800
01 XX 95,600 113,400 A 17,800
O Al =9 75,600
OFS F=DN| 20,000
Zojel A8 122,000 136,477 N14,477
= 30,600
= 91,400
307 ©12+0 122,000 136,477 N14,477
= 30,600
= 91,400
02 Q12+ 112,000 116,477 N4 ATT
o =29 10,000
o 2 102,000
= 30,600
= 71,400
04 012t 10,000 20,000 A 10,000
o 10,000
ZHojel A X 217,000 212,100 4,900
= 151,900
& 65, 100
307 ©12+0 217,000 212,100 4,900
= 151,900
= 65, 100
02 012t 107,000 110,250 A3,250
Oz 107,000
= 74,900
= 32,100
05 oIzt 110,000 101,850 8,150
o 110,000
= 77,000
= 33,000
ool X< 2,522,320 ,105,403 583,083
= 907,600
= 1,614,720
307 QI2t0| & 2,277,160 ,272,163 4,997
= 882,600
= 1,394,560
02 oIzt 603, 160 584,893 18,267
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SN
X XH .
S Tt

oLk

At = X ot
OIS Al
O =XAIE

SN EE - ER(EN) - NRAY - BaS sl Bl HlRE2
0 & 24

308 AXIHHS 9,057,078 9,280,801 N223,723
= 7,215,728
= 1,841,350

01 XEXIEHMZE 9,057,078 9,280,801 A223,723
OME AL 76,800
OZ 0§l 8,980,278
g 7,215,728
= 1,764,550

ZOHI=XIAIE 33,320 44,380 A 11,060

307 212t01& 16,200 18,700 22,500

02 QIFAE X 8,700 8,700 0
olM=2sc4d X& 7,200
OFZUII|& EN= 1,500

04 CIZFSALE X 7,500 10,000 A 2,500
O=SXAESAMA Ex+u= 7,500

308 AtXISHH S 17,120 25,680 28,560

01 XEXIEHMZ 17,120 25,680 8,560
OUHMIZ= 15,120
(OFSE=amE=; 2,000

ZONA XS THEA 401,036 508,949 A 107,913
2 308,489
= 92,547

403 AHXI M S Kt 401,036 508,949 A 107,913
= 308,489
= 92,547

01 XXIEHHM A2 401,036 508,949 A107,913
OO &Y 401,036
= 308,489
= 92,547

ZONCIMEAL JIsEBZAE (2 769,600 1,401,400 A631,800
2 592,000
= 177,600

403 XXM S 769,600 1,401,400 631,800
= 592,000
= 177,600

01 XEXICHA At 769,600 1,401,400 A631,800
OFOI M E 769,600
=2 592,000
= 177,600

SHEZHMC = 163,020 163,020 0
= 125,400
= 37,620

403 XXIEHHMS 163,020 0 163,020




AT MEISX
A ZA=EX AEE SHMISX/FHAAHNEXH)

ool DOjAI=XAS EHE L 29 (sl &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
= 125,400
= 37,620
01 AXSMIA2E = 163,020 0 163,020
Os0E Z0He!l ==X 163,020
= 125,400
= 37,620
ST KSHEAHAL(2D) 78,000 87,000 29,000
= 60,000
L= 18,000
308 MXIHHMSOIA 78,000 87,000 29,000
= 60,000
L= 18,000
01 XML EXZ 78,000 87,000 29,000
O=SZHMe TEHUEIA 78,000
= 60,000
= 18,000
O Ag 25t 38,400 78,600 A 40,200
308 NXEHHMSOIH 38,400 57,600 219,200
01 MXEHIANELS 38,400 57,600 219,200
o MEa=g X 38,400
o azotd & MHEXH 26,055,485 25,218,364 837,121
= 23,643,474
= 2,412,011
ZOH JI=MEEH X2 94,600 141,900 A47,300
308 AXIEHHSOIH 94,600 141,900 247,300
01 MXSHI&EXZ 94,600 141,900 247,300
OZOMHS =4HHl X& 10,000
OXEO0Mel o= HI(HI=0) 20,000
OFME FE=4 X 40,800
oOZoe AZHA 23,800
ool ArslEsKE X (=) 4,114,724 4,448,156 A 333,432
= 3,779,284
L= 335,440
307 212t01& 47,919 37,450 10,469
= 33,543
& 14,376
02 2ItAASE X 47,919 37,450 10,469
OZMAtSI 2 s W= 47,919
= 33,543
= 14,376
308 AXIEHHSOIH 4,066,805 4,410,706 A 343,901
= 3,745,741
L= 321,064
01 MXEHMIANELS 4,066,805 4,410,706 A 343,901




Rk
L HOHRI=R A
el

X ZH
o=

At = X ot

001 A4 5 of

[uil)

§= telSX/HAAHSKE)
ps =

‘:‘}\ X XH }\ C‘}\O‘i HAXZ A} OH X‘—-IL‘EE =2}
OZOH I ALZ] 4,066,805
= 3,745,741
= 321,064
ST & 69, 120 0 69,120
308 XhHXIE 69, 120 0 69,120
01 AHXIEHMA 69, 120 0 69,120
O= 69,120
Zojel =X 98,107 86,601 11,506
= 81,756
& 16,351
308 XhXIEt 98, 107 86,601 11,506
= 81,756
& 16,351
01 KX EHX 98,107 86,601 11,506
O el 98,107
= 81,756
& 16,351
HOoHel HHE 575,586 216,742 358,844
= 479,655
= 95,931
308 AtXI &K 575,586 216,742 358,844
= 479,655
& 95,931
01 KX EHX 575,586 216,742 358,844
O el 575,586
= 479,655
= 95,931
OOl MASEHIHAIA X (=21) 138,413 105,000 33,413
= 55,365
= 83,048
307 gI2tol& 138,413 105,000 33,413
= 55,365
& 83,048
02 QIZtAAMEX 138,413 105,000 33,413
O OHLIMAZ EOHAIE 2E X 138,413
= 55,365
& 83,048
ZOHCl MASH 66,000 84,000 A 18,000
201 Let23d| 5,000 5,000 0
01 AtE22|Hl 5,000 5,000 0
OZ O MALS 5,000
307 QI2t0l™ 25,000 25,000 0
02 2ItBAEX 25,000 25,000 0




D OROH QI A EONE

©OARRI =X

U= AHE
X a

= 0
e 0

o =

[SX/HAAHSKE)

(A
Xl

M0 \5

o

3,465

_ _ _ Muo
RA B SA(BH) - NRAY - B arol e HRE2

CETTIENEE 2 25,000

308 XX £t SOI & 36,000 54,000 ~18,000

01 HXSHBAEES 36,000 54,000 18,000
oLATBY 29y 22,000
OROHQIMAE TOHAIE HiH X 14,000

HoH4g N2(=22) 10,423,509 16,901,178 16,477,669
= 9,600,600
= 822,909

308 XXl EHAISOI & 10,423,509 16,901,178 16,477,669
= 9,600,600
[ 822,909

PGy E e 10,423,509 16,901,178 16,477,669
oML XIS 10,423,509
= 9,600,600
= 822,909

HOHOtS4+Y NS (21) 1,013,394 1,053,396 40,002
= 933,389
< 80,005

308 XXl EHHI SOIH 1,013,394 1,053,396 40,002
=2 933,389
[ 80,005

01 IXESHBARES 1,013,394 1,053,396 40,002
OBMNOIS2E XIS 1,013,394
= 933,389
= 80,005

Zool o 2H X (2D) 512,015 469,375 42,640
= 487,633
= 24,382

308 XXl EHHISOIH 512,015 469,375 42,640
= 487,633
= 24,382

01 HXESHBAEES 512,015 469,375 42,640
Ol o 2| 512,015
= 487,633
= 24,382

ZOHQl RASHH KR (=21) 72,760 84,353 11,593
= 69,295
[ 3,465

308 XXl EHHI S OIH 72,760 84,353 A11,593
= 69,295
= 3,465

01 UXSHBARES 72,760 84,353 A11,593
OXOHQ KHABtH| 72,760
69,295




A AR =X

I ZRAEX AME S (ASISX/FHAHSX)
SOl MORQIMBOIY 2 HEX S CERCE
_ _ _ Muo
SN EB -GS - MBAY - BES 01l &k o e HRE2

ROl SSREHH|(S1) 4,890 5,298 408
= 4,075
= 815

308 XHXIEHHI SO 4,890 5,298 408
= 4,075
= 815

01 UXSHBASED 4,890 5,298 408
OFMQ SEFCH| 4,890
= 4,075
= 815

ZoHel MELZIT REX(2D) 44,100 44,075 25
= 42,000
= 2,100

308 XXIEHH SO 44,100 44,075 25
= 42,000
= 2,100

01 AXSHHBASES 44,100 44,075 25
oMW MELFIIP X2 44,100
= 42,000
= 2,100

ZONOIE TEXZ AL (2D) 1,737,999 1,329,006 408,903
= 1,600,788
= 137,211

308 XIXIEHH SO 1,737,999 1,329,006 408,903
= 1,600,788
= 137,211

01 AXSHBASES 1,737,999 1,329,006 408,903
OFMNOS HEXIE HI2H 1,737,999
= 1,600,788
= 137,211

ANEAAOZHARS XA otojgg NRA(2D) 41,952 0 41,952
= 38,640
= 3,312

308 XIXIEHH SO 41,952 0 41,952
= 38,640
= 3,312

01 AXSHBASES 41,952 0 41,952
OANEAANFNARD T Hojee X 41,952
= 38,640
= 3,312

ZOHOt NESFXR (2 D) 94,440 85,194 9,246
= 66,108
= 28,332

307 QI2H0IH 94,440 85,194 9,246
= 66,108
< 28,332




A AR =X

A TOjOIRK AYE A (AMSIST/HAHENR)
el HOjOIMEOIE U HEA (=CR-E
SN EY O (BH) - MRAY - BLS Aol Bl =2
Gil &t 0
05 2IZtRAEZ 94,440 85,194 9,246
OZOHot == 94,440
= 66, 108
& 28,332
SSHM Jx=&MHAZ(=12) 6,953,876 0 6,953,876
= 6,404,836
= 548,990
308 AUXIHMSOIA 6,953,876 0 6,953,876
= 6,404,836
& 548,990
01 MXEMBLEES 6,953,876 0 6,953,876
OJII=EHMHS 6,953,876
2 6,404,886
= 548,990
OHQIAIDHA & ALS| & O =HTH 260,450 326,740 266,290
= 113,000
& 147,450
ZOHQl QIZ2FCHR SHAFSER 43,800 69, 150 AN25,350
307 212t01& 43,800 69, 150 A25,350
04 CIZFHALE X 43,800 69, 150 A 25,350
oL T=oteltial 9,000
OZOoiel stotE MEUE 11,000
OZ2E =0tel 2L5=0| 5,000
O&= XXM HH-dial &It 1,800
OSXEOIS & JIEHA 8,000
OZAZT NHFOHI=XICH 9,000
ZOHC! 2= SAY 16,000 95,390 AT79,390
308 AXIHMSOIA 16,000 31,840 A 15,840
01 AXNSMBMNEES 16,000 31,840 A 15,840
ogEZHU 7,000
o252l stotESsH 9,000
ORI Al DA =& 51,000 61,000 A 10,000
201 LBt 3| 8,000 8,000 0
01 AFR 22| 8,000 8,000 0
OXTOHI=XICHA Al&t 8,000
307 212t01& 43,000 49,000 26,000
02 I2tAAEX 20,000 23,000 A 3,000
QTR MHYLIRSA JtRD| 5,000
OFOHAAIHH L MEWSE 15,000
04 CIZ2FHALE X 23,000 26,000 A 3,000
OOl & JIE At 23,000




A AR S X1
Hu: FOIQ=K AT SH(ME=X/ALASTR)
SRl ZOHRUIAINSE H AEIE O = (et =3
_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0il & o e HlE2
O At E =0 F& 31,000 38,700 AT7,700
307 @Iz2tolA 31,000 38,700 AT,700
02 BI2tAAE X 10,000 17,200 AT,200
OXNHEZOM 220HE =2 10,000
04 QIZtHAIE X 21,000 21,500 A500
OFMeIIsE IS 15,000
O=3t3d U3 6,000
EZOQ ASIEN SHUHXZAME(Z212) 76,650 19,500 57,150
= 73,000
= 3,650
308 XX EHHSOIH 76,650 19,500 57,150
= 73,000
= 3,650
01 AXEHINELS 76,650 19,500 57,150
OWLZOL At2I&0HE K& 76,650
= 73,000
& 3,650
O WA (Z12) 42,000 43,000 A 1,000
= 40,000
< 2,000
308 XX HHSOIA 42,000 43,000 A 1,000
= 40,000
= 2,000
01 MXEHINELS 42,000 43,000 A 1,000
OGEHME WA 42,000
= 40,000
< 2,000
AYE C28E BH(MISEX/ e - HAE 172,972,891 169,849,979 3,122,912
= 138,713,537
=2 13,664,572
< 20,594,782
Colgiiel ¥&El ASEE 8,956,446 7,232,053 1,724,393
= 7,517,460
= 1,438,986
LolgTtel Mg (22) 8,956,446 7,232,053 1,724,393
= 7,517,460
= 1,438,986
101 1A 19,200 19,200 0
= 9,600
= 9,600
04 JIZHMIZ2XNSE =+ 19,200 19,200 0
Ok &dgeld oAy 18,000
= 9,000
< 9,000




SH: AEI=X D
HE: AUs CBMB SH(ME=X/LOl - HAW)
ool ColuNtel HED ASRH (Sl &2
_ _ _ Muo
SA BB H(BH) - MBAY - B2 Ofl Ak 04 il b o HRs2
NEEEEEEEEE 1,200
= 600
= 600
308 XHXICHHI SO & 8,937,246 7,212,853 1,724,393
2 7,507,860
= 1,429,386
01 MXSHAZAHEES 8,937,246 7,212,853 1,724,393
o=+ 2 2HBY| 8,456,316
=2 7,046,930
= 1,409,386
O+8I2 Meol 285,930
= 285,930
oYst= ol MRS Mz X 120,000
2 100,000
= 20,000
SR 75,000
2 75,000
CSMEPRT ASIE HO 132,255,966 129,703,550 2,552,416
=2 122,533,324
= 9,722,642
COXIER S 2 35,400 13,400 22,000
201 Yot | 4,800 4,800 0
01 AtRZelt| 4,800 4,800 0
O=QAX T 243l 4,800
301 YBrEA3 3,600 3,600 0
10 BAAHIBAS 3,600 3,600 0
O=QAXEX 2143l 3,600
307 QI2H0IH 27,000 5,000 22,000
02 QIAAMBE 27,000 5,000 22,000
ozs T2 22X X 27,000
COBEHRIIB(2]) 251, 168 187,778 63,390
2 125,584
= 125,564
307 212+0| & 251,168 187,778 63,390
= 125,564
= 125,584
02 QIAAMBE 251,168 187,778 63,390
OLQREHSI|D 2K 251,168
= 125,564
= 125,584
Y2y 29 BHE X 1,023,400 718, 120 305,280
308 XHXIEHHI S O & 223,400 318, 120 94,720
01 RXESHBALES 223,400 318,120 94,720




S A= XD
Hu: AUE CEME PH(AISSR/ =0 - HAH)
Solr LSMEBBXI ASIEN 2 (649l &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ofl At ot HwsZ
0Z2g 5Tz ek A 64,800
0ZEY | 107,600
OYNAZY 2| 33,000
oRgYRY T2y 29 N 8,000
403 RXISHERZ0IH 800,000 400,000 400,000
01 RXSHAR2E = 800,000 400,000 400,000
oOL-s gAs F2Y MF XY 800,000
COOIGHER ¥ 525 HY 73,500 132,704 159,204
201 Y2 Y| 15,500 51,000 35,500
01 ALl 7,500 13,000 5,500
OLo=NIIZAARNE 2 4,500
OLUBSA NAS 23 3,000
03 A2 8,000 38,000 30,000
0Bl & Al 8,000
202 01| 11,000 13,704 ~2,704
01 =UjotHl 11,000 13,704 ~2,704
OLQ0IHEN ¥ 525 MY =& 11,000
307 212+0IH 27,000 37,000 10,000
02 SIAHAEE 8,000 8,000 0
owolEtNY T20Y 29 8,000
04 BIZFALSE 19,000 29,000 10,000
CEEETR-Y 15,000
OFRLANEZAUSH &It X2 4,000
308 XHXIEHH SO 20,000 25,000 A5,000
0 IXESHALEES 20,000 25,000 A5,000
oLl Il U LANSABOIZEH 20,000
Lol H230 X 436,368 820,800 384,432
308 XXIEHH SO 436,368 820,800 384,432
0 UHXESHALSES 436,368 820,800 384,432
oF++g 436,368
JIEEYZ(2D) 130,436, 130 127,769,248 2,666,882
= 122,407,740
= 8,028,390
308 XHXIEHH SO 130,436, 130 127,769,248 2,666,882
= 122,407,740
= 8,028,390
01 MHXCSHMALSEZ 130,436, 130 127,769,248 2,666,882
OIE=YHZ X 130,436, 130
= 122,407,740
= 8,028,390




SN ASI= XD
I AYE LEME DH(ASSX/ 0 - HAE)
CHPl: LoIoB - EXAL BE (o He
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
Colojz - BXAIE #E 30,555,058 30,838,376 ~283,318
= 7,457,332
= 13,664,572
= 9,433, 154
COSRAIE SHXH(2H) 22,106,572 20,108,919 1,997,653
= 13,664,572
< 8,442,000
308 Xt XIEHHSOIH 22,106,572 20,108,919 1,997,653
= 13,664,572
< 8,442,000
01 HXSHBLEES 22,106,572 20,108,919 1,997,653
OLQIMEANM 2 22,106,572
2 13,664,572
[ 8,442,000
COI=RAIE JISEA(2D) 2,536,401 5,690,204 ~3,153,803
= 2,113,667
= 422,734
403 XIS HSKHZ0IH 2,536,401 5,690,204 ~3,153,803
= 2,113,667
= 422,734
01 RXSHHR=LE 2,536,401 5,600,204 ~3,153,803
OLQIMEAM JsEY 2,536,401
= 2,113,667
< 422,734
COISRAIE BHEHA 208,000 0 208,000
403 KX S HS =0l M 208,000 0 208,000
01 RMXSHHT=LE 208,000 0 208,000
Ol X4 8,000
OLQ=X2 AN 200,000
COEE NUIA(SD) 5,704,085 2,596,608 3,107,477
= 5,343,665
= 360,420
308 XtXIEHHISOIH 5,704,085 2,596,608 3,107,477
= 5,343,665
= 360,420
01 HXSHHBAEES 5,704,085 2,596,608 3,107,477
OLolESENHIA B 5,464,085
= 5,118,665
= 345,420
OSHL0 STUNS20 SN 240,000
= 225,000
= 15,000
LSRN U FAAE HE 1,205,421 2,076,000 ~870,579
= 1,205,421




A AR =X
M AU LSME SH(ABEX/c0 - HAH)
Celr Lol=X U AL =S (S e
_ = P e
SN HA(S) - HRAY - BES Off &k o Ofl At ot Hluse
ZAAIE E5(=1) 1,205,421 2,076,000 A870,579
= 1,205,421
403 A XIEHHSXH=01H 1,205,421 2,076,000 A870,579
= 1,205,421
01 MXEMAH=2EX 1,205,421 2,076,000 A870,579
OZETANSIEE M=, &=z &1 1,205,421
= 1,205,421
SO ZMEEENE RS (MIEX /I =HEEH) 364,219,935 355,784,217 8,435,718
= 311,678,081
= 27,000
= 52,514,854
gol2 g - g X 184,330, 135 182,773,081 1,557,054
= 164,610, 121
= 19,720,014
NASE S8 551,700 732,400 180,700
308 KHXISHHMSOIH 432,000 568,000 A 136,000
01 MXEHINELS 432,000 568,000 A 136,000
oxtael 2sX# 350,000
Oz HZEHN 22,000
OXH oA EIRAHE aoEx 29 40,000
O&HMaHe! =ER0IMEH 2 10,000
OXHEX 2223 AEs 29 10,000
403 AXIHHSK=201H 119,700 164,400 A44,700
01 MUXISMAZ2E = 119,700 164,400 A44,700
of=cl X& 100,000
ORFEHAML Ao A 25 7,200
O&HMoHe! =R0IME HHIXH 12,500
222X XN(21) 2,307,826 1,738,770 569,056
= 2,197,834
< 109,992
308 AXISHSOIA 2,307,826 1,738,770 569,056
= 2,197,834
= 109,992
01 MXEHMISELS 2,307,826 1,738,770 569,056
od==XXZE 2,307,826
= 2,197,834
S 109,992
SYOANE 22 NE(=1) 1,525,461 1,534,844 N9,383
= 1,067,823
< 457,638
308 MXIHHSOIH 1,525,461 1,534,844 A9,383
= 1,067,823
= 457,638




SN
X XH .
S Tt

el

NEE !
2WIZYELEHE 29
U2 Y K A

_ _ SIEN
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2

01 HXSHBARES 1,525,461 1,534,844 19,383
ORYAANE 29 1,525,461
= 1,067,823
< 457,638

MASZH XNR(2D) 122,435,794 119,106,547 3,329,247
= 108,831,817
= 13,603,977

308 XXl EHAI SOl & 122,435,794 119,106,547 3,329,247
= 108,831,817
= 13,603,977

01 HXSHBARZES 122,435,794 119,106,547 3,329,247
OMH S0 122,435,794
= 108,831,817
[ 13,603,977

Z=H20 N(2D) 28,849,713 32,757,706 3,907,993
= 25,644, 189
= 3,205,524

308 XXl EHH SOI & 28,849,713 32,757,706 3,907,993
= 25,644, 189
= 3,205,524

01 HXESHBAEES 28,849,713 32,757,706 ~3,907,993
oFAHZ0 28,849,713
= 25,644, 189
T 3,205,524

DTS20 N(2D) 4,867,938 3,298,915 1,569,023
= 4,528,314
= 339,624

308 XXl EHH SOI & 4,867,938 3,298,915 1,569,023
= 4,528,314
= 339,624

01 HXESHBAEES 4,867,938 3,298,915 1,569,023
onsa0 4,867,938
= 4,528,314
= 339,624

HAZHSO XS (=2) 922,634 807,733 114,901
= 858,264
= 64,370

308 XXl A SOl & 922,634 807,733 114,901
= 858,264
= 64,370

01 IXESHBAREES 922,634 807,733 114,901
OBl A HH 20 922,634
= 858,264
= 64,370

RSN ANE (2D) 432,000 430,000 2,000




SN
X XH .
S Tt

el

UNE= NS

=

—/

I=MEEHMNE 2F (AMSISX/I1=
= ' L=

[l

_ _ Muo
M- T SRI(31) - M A Aboy e HIRZE2

= 302,400
[ 129,600

307 QI210|H 432,000 430,000 2,000
= 302,400
[ 129,600

02 BIFABE 432,000 430,000 2,000
O X &M E 432,000
= 302,400
= 129,600

SUANE ISELX 28,125 61,650 ~33,525
= 18,750
[ 9,375

403 XX S S K20 28,125 61,650 ~33,525
= 18,750
[ 9,375

01 MXISH2LEE 28,125 61,650 A33,525
OFUAL T 28,125
= 18,750
= 9,375

THE XS (=) ,049,917 16,754,890 3,295,027
= 926,757
[ ,123,160

308 XXl EHH SOl & ,049,917 16,754,890 3,295,027
= 926,757
[ ,123,160

01 HXSHBARSES 049,917 16,754,890 3,205,027
o2z ,025,500
= ,907,440
[ , 118,060
ONARELH 29 778,981
= 778,981
OMNBHSZZIY 29 73,100
= 68,000
= 5,100
OIAIIE &2 A 933,000
= 933,000
oREsY=s 23N 242X 1,239,336
= 1,239,336

IS FBHOX 913,089 155,714 757,375
=2 849,385
[ 63,704

308 XXl EHAI SOl & 913,089 155,714 757,375
= 849,385
[ 63,704

01 HXSGHBIARES 913,089 155,714 757,375
OXARIANE & 913,089




SN
X XH .
S Tt

el

m H =

2/ =X
QD= E 2 A
g2 g - A

2=

2 (A= X/01=

S HE S (BH) - MR A o dd = HRS2
O & 04

= 849,385
= 63,704

BASZ2H XH( 879,350 710,446 168,904
= 818,000
= 61,350

308 XHXIEHS 879,350 710,446 168,904
= 818,000
= 61,350

01 XEXIEHHIZ A 879,350 710,446 168,904
OXt&& e 879,350
= 818,000
& 61,350

Al = XIS &M b 566,588 0 566,588
= 566,588

308 XFXIEHHISO0I 566,588 0 566,588
= 566,588

01 XEXIEHHIZ & 566,588 0 566,588
OAZI S X 566,588
= 566,588

A~2EES NS EF 1,089,800 1,911,136 A821,336
= 27,000
= 1,062,800

2 2 XIE=sX 62,800 84,136 N21,336

202 (4 8,800 9,136 N 336

01 2| 8,800 9,136 A 336
ONASES X3 FH=2XaS 8,800

307 QIz2to| A 54,000 75,000 A21,000

02 QIZ2tAAME X 35,000 50,000 A 15,000
OIAIZIE X JHE 29 35,000

04 OIZHEHALE = 19,000 25,000 6,000
O=SS0IEF0 AMIAS W= 9,000
OXESHH AIEEAMF 10,000

NE=2X olZet &5 x|/ (=2D) 1,027,000 1,827,000 800,000
= 27,000
= 1,000,000

403 MXIHMS 1,027,000 1,827,000 800,000
= 27,000
== 1,000,000

01 XFXIEHHI X 1,027,000 1,827,000 800,000
OHRLIEI 1,000,000
OZ &AL 27,000
= 27,000

S0II2 249(9Y =22 S8 178,800,000 171,100,000 7,700,000




SN
X XH .
S Tt

el

At = X ot

A2zl 2 (9220

_ _ _ Muo
SN HE SRS - MRAY - B Abod e HlnE2

= 147,067,960
[ 31,732,040

o220l B AHIA NN (2D) 178,397,494 170,925,500 7,471,994
=2 147,067,960
= 31,329,534

201 L9y 620,000 500,000 120,000
2 496,000
= 124,000

01 AlR22ll 620,000 500,000 120,000
OSE - MALLZ 620,000
2 496,000
= 124,000

308 XHXIEHHI SO0 & 3,170,360 3,304,714 134,354
2 2,886,253
[ 284,107

01 MIXSHHIMNSED 3,170,360 3,304,714 A 134,354
ool =g #3232 67,500
2 60,000
= 7,500
o2zt SX2 30,600
2 27,200
= 3,400
OQUHl ¥ oo EER 2 X 1,012,500
2 900,000
= 112,500
o= B2g YAz 142,875
2 127,000
[ 15,875
CEEEI RPN 613,402
2 613,402
OALME ST 1,303,483
2 1,158,651
= 144,832

403 KHXICHHI S XH20| & 174,607, 134 167,120,786 7,486,348
2 143,685,707
= 30,921,427

02 ZII2SOICHEHCHE AL b 174,607, 134 167,120,786 7,486,348
oX2Hl HE2 173,368,350
2 142,694,680
[ 30,673,670
OAHUMEBSXIH HE2 1,113,891
2 891,113
[ 222 778
OEAMAZH oet2 124,893
2 99,914
= 24,979

ozzoige =% 173,500 173,500 0




A AR =X

Mz 2O ZMEEAHE S (AR /I =HEEE)
S 230012 2E (U223 HII22IEESH) (&2 &
SN BB (B) - MEAIY - BAS 0f AF oA gggf; HZS2
202 O HI 11,000 11,000 0
01 Z2WdHYI 7,000 7,000 0
Oz R =& 7,000
04 =HN3o Yl 4,000 0 4,000
02230 MHALXRX H= 4,000
308 XHXIEHSOIH 162,500 162,500 0
01 XAXSHHIAEEZ 162,500 162,500 0
OYREBL 2lAHH| 90,000
od Al 72,500
(0:/Ns]Rs]] 229,006 1,000 228,006
801 odlblyl 229,006 1,000 228,006
01 ollglyl 229,006 1,000 228,006
ool bl 229,006
HYSHAHUI (AL =E XD (I1EFH/IIE 463,250 450,953 12,297
ol 2HH| 405,877 389,580 16,297
SE& oA XA 405,877 389,580 16,297
101 ol 2H| 135,397 128,040 7,357
02 JIEt™ 2= 135,397 128,040 7,357
o= 110,040
ONUA AR 35 5,880,000& x1H x12& 70,560
ONUAAUX Ct3 3,290,000& x1H x12& 39,480
(OPJETTy 1,440
Ol < Xt 40,0003 x2H x12& 960
OR2It= 20,000 x2H x12& 480
OAIZ2tA+E 7,057 & *35A1 2 x1H x12& 2,964
O I AHH| 4,233,000 %0.7%1/30%2H * 11 2,173
OXNMZHFFEH| 600,000& x1E = 12& 7,200
(@FSRF=FNE:] 130,000& x2H =12 3,120
(OFESI=J=pysl 7,860
O A A AA 35 500,000& x1H «12& 6,000
ONUAAX CtZ 155,000& *1H 123 1,860
odalesy| 50,000« 1H *12& 600
203 ©RF=&H| 21,600 21,600 0
01 J|22I YR =& 6,000 6,000 0
o=% 6,000
04 2A2ILERF=EI 15,600 15,600 0
©3092! 0laot 350,000& 3 = 12& 12,600
© 152! 0lat 250,000& =10 =122 3,000
204 XA 248,880 239,940 8,940




=
2 (ALEI S X2 (D1EHIIE)

SN EE - ER(EN) - NRAY - BaS sl e HlRE2
01 Mg HPHA| 16,800 16,800 0
OME 350,000& x4 H«12& 16,800
02 A E2XH 181,680 174,540 7,140
O4= 400,000 x6E 123 28,800
O5= 250,000 17128 51,000
O6= 155,000& «27H »12& 50,220
or=s 140,000& *21H 123 35,280
©8,9= 105,000 «13H 128 16,380
03 SR ESHI 50,400 48,600 1,800
ol sl 50,0003 84 H 12 50,400
Jl=&Hl 57,373 61,373 A4,000
FA2Y Jl=Z | 57,373 61,373 24,000
201 Let2g| 42,413 42,413 0
01 AtE22/H] 41,213 41,413 A 200
ORA2Z AR 2] 41,213
02 23234l 1,200 1,000 200
ORM2ZE 232 1,200
202 O4Hl 12,960 12,960 0
01 =Wl 12,960 12,960 0
ORAN=2ZE =UNHI 12,960
405 AHoHESHI 2,000 6,000 24,000
01 T =S H SHI 2,000 6,000 24,000
©3MHI (10) 2,000
HRES (At S X0 (At S X /FAAHSKH) 13,574,730 13,914,647 A339,917
LHEHHXI = 13,574,730 13,914,647 A339,917
o=z=20II= XA 13,368,820 12,404,247 964,573
701 JIEtRI AN ES 13,368,820 12,404,247 964,573
01 JIEtRI AN E= 13,368,820 12,404,247 964,573
od==0II3 == 13,368,820
AM2I=RDIa K& 205,910 1,510,400 A 1,304,490
702 JlIsdEs 205,910 1,510,400 A 1,304,490
01 JISHES 205,910 1,510,400 A 1,304,490
OMSISXINZ2(M RS HE) 205,910




